| S % 3Pl 4R

TO: B H -2 ¥/ - HE BHAMA RSB EE 2016/10/31
AN 161011
X5 ECHSE 20160 FE=FEHHNEIIHE RN

B BREBHY

— ~RBIESH B BT EML > L E 2016 £ F = F R o4 o

12016 FE=F 28 E)EHL T
HdbH &N Ae
BRI & % #1
TEHE RF

2.2016 FE =F LM EH T
JLE: WA~ LA A #39% “fREE(=JE) BiE—JB
¥TE: EE - A F
& 2%
& ¥ &: %“r‘* RFE -~ R~ BF ~ KEAK
PHRE FE B HE
EZEHE: %m 25t
mE: KT~ iH

3.2016 FE=FEFREH T
L& 8~ AE - RY
HALTE: B8~ 8 5
MEE: F & - i
B B  RE
EFE: mikh - BAE - KEHHEEEE) ~ L7 4
BIRE RECREBERE)
TEHE: BE - 78~ 1
mE: KB ~Fof g EHHE

—~ Mk HEHmA

L ) 1&@'/'{



N BB PR B0 | 64F. | A R RS = T ai g oy A e s T

BiEE R TR | 8H&ES | 9B S | B=F | B4E 481K
FrikhE yavill 124 124 124 124.0 HE | B=FHESEE
PEE (330] 113 103 118 1113 HE | F=FBHEHEG
EEEE £5 112 112.5 109.5 111.3 BE | EEESEEEER
EE &35 85 86 85 85.3 & FE=FREEER
aPE BEE 95 87 82 88.0 =4 E=FIRBHEER
FribilE iR 111 79.5 69.5 86.7 & E=F BB
ItE s 103 107 100 103.3 & E=FREHEERS
TR GiE= 86 86 84 85.3 {14 EF RS EER
Jbl& st 93 97 100 96.7 & E=FREREER
ERE #E 91 94 92 92.3 & BT EER
Elan REHE 96 73 88 85.7 & BEF R EER
1t& & 88 94 88 90.0 [ EEF R EE
iE thf 103 78 93 91.3 & E=FREHEHERS
= FRES(ZJE) 84 92 83 86.3 & F=FREEEES
EEEE PR 107 96.5 103.5 102.3 & E=FREHEES
el =4 87 87 92 88.7 & BRI EER
EEEE ES 0 99 103 103 101.7 i =R B
ERE EEA 83 83 98 88.0 i E=FREGEERY
alE iR 99 89 101 96.3 & EoEREEEERS
FitmE Gaas 92.5 85 90 89.2 & FEFHRBREEF
ItE Hiz 5 98 98 97 97.7 & E=FRESEER
5 E i 95 103 103 100.3 & B=FREREES
& 7k 2 83.5 91 85 86.5 & EERREEEERN
A AT 83 103 90 92.0 & FEFMATEERF
& i 103 80 80 87.7 =i E=FREEER
L& LHf 725 61 64 65.8 =1 E=FEREHE
EHE FE 30 100 70 66.7 B E=FERHRF
MEE o] 39 87 87 71.0 B E=FEEHE
EEEE EE 85 63 63 70.3 =4 BEFELERF
B & k(S 75 84 76 783 B B=FEEEHRE
HE Bz 28 85.5 93.5 69.0 53 FEFERER
EHE | KEEFEE 66 76 56 66.0 =5 FE=FEREF
EEEE BF 102 51 52 68.3 £ FB=FELEHR
&1 s 94 125 715 81.3 B BEFEREM
FHE &% 26 100.5 85.5 70.7 B FEEFERER
Jb&E B 98 56 42 65.3 = E=FEREF
FHE e 75 81 75 77.0 £ FE=FEREG
FitmE s 108 735 70.5 84.0 53 F=FELERF
pkEE A% 86 60 82 76.0 B E=FERHF
L Gk 93 51 69 71.0 B E=FERHERE
G4 E Fayallt 41 75 79 65.0 £ E=FEREN
EHE | KIREREEDE 69 68 73 70.0 B FEFERER
5FE&E I E 55 78 85 72.7 B B=FELEHR
PkEE R 86 71 76 717 £ E=FEEHEY
ET R 78 84.5 62.5 75.0 £ FE=FEAER
Gl pAi| 39.5 94.5 78.5 70.8 53 FE=FEREG
EEME el 93 74 74 80.3 51 F=FERERH
FribhiE A 85 69 85 79.7 £ E=FEEHRF
JE& s 69 69 69 69.0 =] FEFEEER




